Mr: Frank Graham, from Elkhart District in Indiana, has just inherited a historic hotel. He would
like to Lﬁcp the hotel, but has little experieace in hotel management. The whole district
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community is willing to help him out, because this hotel represents a major atiraction for visitors, (@
and thus, monetary sources for everyone.

ko)

Elkhant Middle School has been assigned to help determine how much should be charged per day
for cach of the 80 rooms in the hotel to maximize Mr. Graham'’s profits. From previous
experience, they've been told that bl rooms are oceupied when the daily rate is 360 per room.

Each oceupied room has a $4 cost for service and maintenance per day. They also have been told
that for every dollar increase in the daily $60 rate, there is a vacant room.

Mr. Graham would like to know how much be should charge per room in order to maximize his

ELer

profit, and what his profit would be. Also, he would like to have a ool developed that will allow
him to have this information even if hotel prices and costs rise, for example, 10 vears from now.

Develop a tol to sindents in Efkhart Middle School that can help Mr: Gesham sobve his probl
giving complete instructions on how they ¢an use this oo,

FGQ}’;WW %I"C{Lw g — (f'fl e?-oj'
ST fr-:'.lﬂra 4»9"1 <k 1L
e g e~ WS = o
P O .- — 54T
"':‘.'t” ﬂ).l" f/?h.ﬁs.ll r;I" ;‘..ﬁr-ﬁ )..l_|
?'_{u Ilr reemts =l ‘_ '*'—e"fff-'-"'}
Mhigree TS 02 S f Lr ;';4- L ["llrdﬁ
", 1 | o a =T ™ =il
J'F Lflf-'llt'f;’ " r |li|l|l-'('.'l""I ] ( I-l -'? r I L-ll It\ .
Pkl LA 2 L AN = Y
; '--.-;:r.”_-l_,_;-.; 12 (o (1" .’l_;'l" = ||ul:j
A s Lo ) s == I I 'I-.:_
[‘1- 'ﬁl.-" f{r"":"’v'_ '?‘;)F’” B - ( I‘|[ .-g \ S III&; I?::]
s LELEa 5 ..;.-—\'"-“
GG/ faarn * NrgenensS 1 4% ) ;
0 [ * IO o { oD =, 1 61
by (1 .::-’l qubmm 'f-ru":'-'ri :JI 2l =
T oy .;L{hnw. Wl e ey
0 ffnf’” 2 el RO R
e r“D:-_.-.’"" : "L_.f' g l;_t.'- ﬂ,; ~ e
'.'.'-":"-_..r' }:_—q: ; - l,;:: -._\h?TI!"‘: : '~ G r a4 -__,:f:
! ‘E'I"_?I,IT.'TF: I ‘M:. k::-:__ _T_.I-l-' = -_ S
by AN 8 «Cge % " 1 Fl:' 1 il _:_:’
,'.trl 2 SO b i gl =
R vl PR Y=




Tool

%9090 /rms « $0cms — L‘f-l-go);‘h', 430,
-:UL‘::’rma * 39 ms - ¢4 1%) =z 1q 5oz
1037 /ems » T8ems - iy, 13) 2P 50y
:'I-ﬁ“!'m-s *F%en - (34;7) = FU5Y3.0
a'-’”-':'*ﬂ-‘i * TP rms- L"-f,‘“j:. "-LS"*OFI
‘uﬁ-wi. Mm3: IS ems - (34:78)2 89 K75 @
‘\f:_"[-mfms MWems~ (MYs ) 2 Yy 5330
;h/rm'ﬁ'“mrma- Yy ), 84,159,
o /;rrna * J3ems - (U279 :q‘l'”:':
rs ¢ Tlrmsg = qu.'llb':-‘ t.hlp'ﬂ'm :
Y105 w1e): ¥ Y,te 9.0
tMS = 10rms - L"I:"‘?' P
lq.la.ﬂ/m' ‘Lﬁqﬁ"\:"' L"‘-l:m - "LI-I a‘q“
¢ 3"!%' lg?rm:-L‘q':'" ‘lq‘tﬂ ;:m
.1 . ;m-'ﬂ1rm. L‘qB IQ|uﬂI

142 5o tarms. (§3-GB 11 LGLOSE
3155 ermy « 93emse (320 0Sf 2 830 o0

3700 fems - 9 rms - leu:i::“;. ﬂ&":i?f

8717.%% ves - (9 Drms = L‘SQ.‘

5 755% s - BIrms- (PU4 A2
25

519 rms - Wloms ~(SUB. )

250.°Ycmy - (80rmsy. (1 tﬁ-"“)" i 2@99 O




®

. AppendixD

MQT?" Cng
CO/\‘Qy F! ;V@&fﬂ

Vdﬁvﬁm/n
f g0 (£

F2 XBJ’

00 [ 54 T 6 7]

HF0 0 (4720 Y640 4560 yg20 H00 43 20

5 ‘5? S m ?5\ 5“%;
£ £E £

T oor T
W o

W@Mwm K756 f73 1470, 577!'% gL

A

B L N ¥ B M /5 -
o7 49 90 &F =
e 45q | , i%
Y1co Hog0 4700 =%

Hoom Mmu [‘hm], c:e&t 'f

total Jervice P@@ﬁ@ﬁbdéaé 'Pmm

Bom mult, /mcf’ 6vwefv/oec/x,; elogt

7@*3%%3;#

vionl
GIvsY g

amowp(

[ hat would equal the fﬂnﬂ*

o‘miﬁ

meney you could get inqday.

Fof ;




Room /Cost
6874

Y620

Matt Cogk
'Ca/‘ey F/.//;’/’}QQ m
- The problem

Mr. Frank Graham, from Elkhart District in Indiana, has just inherited a historic hotel. He would
like to keep the hotel, but has little experience in hotel management. The whole district
community is willing to help him out, because this hotel represents a major r attraction for visitors,
and thus ‘monetary sources for everyone: R
Elkhart Middle School has been assigned to help determine how much should bg’chargéd per day
for each of the 80 rooms in the hotel to maximize Mr. Graham’s profits. From previous

- experience, they’ve been told that all rooms are occupied when the daily rate is $60 per room.

Each occupied room has a $4 cost for service and maintenance pet day. They also have been told
that for every dollar increase in the daily $60 rate, there is.a vacant room.

Mr. Graham would like to know how much he should charge per room in order to maximize his
profit, and what his profit would be. Also, he would like to have a tool developed that will allow
him to have this infor’mation even if hotel prices and costs rise, for example, 10 years from now.

Develop atool to students in Elkhart Middle School that can help Mr. Graham solve his- problem
giving complete instructions on how they can use this tool.

Gross Amount Tm‘al Amoum"




e Al

N WO UV OW = (wou P2 1datid 0 p0WO .l nd J.fd.v.u

‘S +Dmu . ooy

.+..aep__._".$¢£ N+ WM Al ploom sL
-p2:dapro Y Y U Swo o ANPW PO
Y2y ‘woas nd 20> It Iy AU.G# »OMp PI9GY Y



ik

AN e Omr:o“l
K

& Q‘S\wgﬁ =

. g : . o
Mr. Frank Graham, from Elkhart District in Indiana, has just inherited a historic hotel. He would g&)\@
like to keep the hotel, but has little experience in hotel management. The whole district %
community is willing to help him out, because this hotel represents a major attractlon for v151tors

and thus, monetary sources for everyone .

The probiem

Elkhart Middle School has been assigned to help determine how much should be ‘charged per day
for each of the 80 rooms in the hotel to maximize Mr; Graliam’s. profits. From previous 2
experience, they’ve been told that all rooms are occupied when the-daily rate is $60 per room.
Each occupied room has a $4 cost for service and maintenance per day. They also have been told
that for every dollar increase in the daily $60 rate, there is a vacant room.

&

Mr. Graham would like to know how much he should charge per room in order to maximize his
profit, and what his profit would be. Also, he would like to have a tool developed that will allow
him to have this information even if hotel prices and costs rise, for example, 10 years from now.

\
Develop a tool to students in Elkhart Middle School that can help Mr. Graham solve his problem,
glvmg complete instructions on how they can-use this tool.
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Appendix G

The problem

Wr. Frank Graham, from Elkhart District in Indiana, has just inherited a historic hotel. He would
like to keep the hotel, but has little experience in hotel management. The whole district
community is willing to help him out, because this hote] represents a major attraction for visitors,
and thus, monetary sources for evervone.

Elkhart Middle School has heen assigned to help determine how much should be charged per day
for cach of the 80 rooms in the hotel to maximize Mr. Geaham's profits. From previous
experience, they've boen told that all rooms are occupied when the daily rate is 560 per mom.
Each oecupied room has a 84 cost for service and maintenance per day, They alsoe have been told
that For every dollar inerease in the daily $60 rate, there is 2 vacant room.

Mr, Graham would like to know how much he should charge per room in order to maximize his
profit, and what his profit would be, Also, he would like to have a tool developed that will allow
him to have this information even if hotel prices and costs rize, for example, 10 vears from now.

Dwelp]:r a tool to students in Elkhart Middle School that-can help ]‘u'lr Graham solve his problem,
giving completed mmumms on how they e use this twal.
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